N = 0l & At & Ml A

20229 = =& 1 3 LB HAF
2N ASD
= T AE
Sl S AIEA T EERED
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HIDE2
A= 415,914 379,968 35,946
Al 27,000 0 27,000
- 388,914 379,968 8,946
S AIEHI 261,134 229,808 31,326
Al 27,000 0 27,000
- 234,134 229,808 4,326
SAEZEH 74,714 43,388 31,326
Al 27,000 0 27,000
- 47,714 43,388 4,326
ARHE A5 = 43,464 39,138 4,326
401 AIEHI L 20 6,464 2,138 4,326
01 A€ HI 6,464 2,138 4,326
O LESEL e MEHXZAL 24
309,000 x2H »7 4,326 0 4,326
WoHg FHul(od)2 ol 249 27,000 0 27,000
Al 27,000 0 27,000
401 Al HIZ 201 8] 27,000 0 27,000
Al 27,000 0 27,000
01 A& HI 27,000 0 27,000
OFEIFNESIMNEAY HH 2 oM &S
12,000,000& 12,000 0 12,000
Al 12,000 0 12,000
O 10FHSIMNEAY HHI2Y oMl 224
15,000,000& 15,000 0 15,000
Al 15,000 0 15,000
HY2FZH (A=) 152,530 150,160 2,370
J=2ZHI(A=) 152,530 150, 160 2,370
Jl2Zdl (A=) 152,530 150,160 2,370
405 TtobH S| 7,370 5,000 2,370
01 AL ESFH S 7,370 5,000 2,370
ORNM2Y MRI2 2,370 0 2,370
-y 170,000& =4 K 680 0 680
-9 Xt 230,000 *5JH4 1,150 0 1,150
-OlsAE 135,000& =44 540 0 540
Heags(Hds) 2,250 0 2,250
BEIE (A=) 2,250 0 2,250
IAHIEEZ gra(A51) 2,250 0 2,250
802 gt&t= DI Et 2,250 0 2,250
01 I DNEBXStE= 803 0 803
02020 JIE&E 2== sMAEEsEL XA
& I AhH 700,000& 700 0 700
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